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OCR has produced these candidate style answers to support teachers in interpreting the
assessment criteria for the new GSCE specifications and to bridge the gap between new
specification release and availability of exemplar candidate work.

This content has been produced by senior OCR examiners, with the support of the Qualifications
Manager, to illustrate how the sample assessment questions might be answered and provide some
commentary on what factors contribute to an overall grading. The candidate style answers are not
written in a way that is intended to replicate student work but to demonstrate what a “good” or
“excellent” response might include, supported by examiner commentary and conclusions.

As these responses have not been through full moderation and do not replicate student work, they
have not been graded and are instead, banded “medium” or “high” to give an indication of the level
of each response.

Please note that this resource is provided for advice and guidance only and does not in any way
constitute an indication of grade boundaries or endorsed answers.

la Question 4 Travel and the wider world

Your school website aims to celebrate the different cultures represented in the school.
You have been asked to write about ‘The most important day of the year’. (25)

Remember:

¢ to give factual information and explain ideas and points of view (your own or those of
others)

e to use a variety of vocabulary, different types of sentences and different verb tenses

You can use your own ideas or you could include these ideas:

1 who you are, where you live and which culture / country you represent;
2 details about the day you have chosen (when, where, who takes part);
3 describe what happened or will happen on this day;

4 reasons why this day is the most important day of the year;

5 whether or not your feel it is important for different cultures to celebrate their own
special days.
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Candidate style answer

Examiners commentary
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High level answer

The candidate has made a good start by giving her
background and explaining which day is the most
important day of the year. She provides factual
information in complex sentences using clauses.
She expresses her choice of festival as an opinion
and justifies this choice by explaining that the whole
family gets together.

The candidate expresses the traditional belief of
how the festival of Diwali started. In doing so, she
takes the opportunity to use the past tense and
maintains the use of complex language.

The candidate now talks about the celebration in
her own area, not only giving factual information
about what happens but also expressing an opinion
about the enthusiasm of the community and
justifying it. She then expresses her own opinion on
the activities and brings in the impact of the festival
in terms of pollution, relating it to both the
community and to the environment. The use of a
variety of structures and vocabulary places her
work in a high band.

As she turns to her own personal celebration with
her family, she takes the opportunity to use the
future tense. Again she gives a detailed and
developed response with opinions and justifications.

She concludes her writing by giving her opinion as
to why it is important for everyone to celebrate the
important days in their culture.

This is a very good response. She has provided a
good range of factual information, explained her
beliefs, expressed her own opinion and justified her
point of view. She has used some of the prompts
but has also used her own ideas.

Throughout the writing, she uses a variety of
structures, vocabulary and clauses and successfully
uses more than one tense. The writing has
exceeded the limit of 150 words but nevertheless it
is of high quality and deserves to be placed in a
high band for both Communication and Quality of
Language.
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Candidate style answer

Examiners commentary
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Medium level answer

The candidate has used the prompts given and
tackled the first prompt well by giving his name,
age, where he lives and which culture he
represents in simple sentences.

Again the candidate sticks rigidly to the given
prompts giving the details asked for. It is written
very methodically and with correct language but the
sentences are simple. He has given factual
information in short simple sentences but has also
expressed a simple opinion which helps to take the
writing to the middle level for communication.

The candidate describes what will happen on the
day at length. He expresses some simple opinions
but there is an element of repetition in the detalil
provided.

He uses slightly longer sentences with some
colloquial phrases and has used the future tense
which helps move the writing to the middle level for
Quality of Language.

The fourth prompt triggers a justification as the
candidate says why the day is important to him.
However the straightforward nature of the point of
view and the repetition prevents the writing moving
to a higher band.

The last point has been expressed well and he
justifies why he feels that celebrating a special day
is important. A more complex sentence is used and
helps to place the Quality of Language at the
middle level.

The candidate manages to use short, factual
sentences to respond to the task. He expresses
straightforward opinions and sometimes provides
justifications.

There are some good words, and he does use a
different time frame but he mostly uses very simple
structures. The message is clear and coherent but
there are some repetitions.

This candidate falls into the middle of the range for
both Communication and Quality of Language.
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